._ér-thé've.c'tor. ﬁ"l =< -2, =4 > and the Vect_dr'ﬁ with direction angle 2% 'sudh tha_.t ”ﬁ“=8 B SCORE: _ /5PTS o

: .' Fmd a umt vector perpendlcular to M, (Do NOT use. declmal approxmatlons )

U <U‘)L)>

ow%—lu 4% D ;eﬂ u~-2 Uo7 1

-~———--—---=—*< 217 :..I_-‘i“""w} E>"'”: J—> /M'SD <J¢ ‘i:>
i< KA E e o

11

i

: Fmd the dlrection angle of m . (Your answer should be in radians; rounded to 2 dec:mal places )

\l é-(H(D J20' = _ _

: | ‘__.L.f._. _ 2 . . - !
$V\9 5 e -‘JT;’; . @ L ©3 i o
CosB= =2 . - L SRE |

059 —-T? =T 9%@ = | \

—Y}g\\ﬁvg.%;z 9 T%’\H’L}'ZL_}

Write. 27 — /71 as a linear combination of 7 and } (Do NOT use decimal approximatlons ) -

2 ((:?C;Dﬁ %) (\2{ LWy >M> L”ZL ’43&)

- 8T + %f’j) *ZL#Z‘U
6T + (482D S




Consider the vectors f :..2__}: ~3k and g=-i - 3} +_4E’ : SCORE / 6 PTS

Find the angle between f and g . (Your answer should be in radians rounded to 2 decimal places )

.‘ faj.

o' T8 L o bol2
t?ﬂﬂg’i! R b
= ey ZlE-
BE
2,94
.[b.] Fmd aumt vector perpendlcular to both f and g (Do NOT use dec1ma1 approx1mat10ns)

fy = FA: NJ E-’ 4'3)

- | C -2 3> 'Cﬁ'b " +74&«

i ,_3 ﬁL | '

: o 4~! 3, 2> -
'é*f?a\; | 3'.-_-'7'
L e «i %2 7
U(;'f"l:l\“ r‘l< > <¢Tf», i‘-! i

Write f ag the sum of 2 vectors one parallel to @ and one perpendlcular to Z. (D NOT use decimal approxirdations.) o
21 26\

P{‘-Oj;f a | - F- @H@j {O 2“3> <‘9— 3, 2/

[e]
ﬁ
— e "3

___§_

\

—_— £
2’ '?[:’\\. T —w-"""‘-"‘ - \7
L= %) z% /‘5’< 1%

56 < >
:<%3% =




Let P be the point ( ~5,~2,3). Let Q bethe point (3, 2, =1). Let R be the point. ( ~3,4, - 2) SCORE . [19FT18
Let i be the vector with. initial point R and terminal po1nt 0. '
Let- W be the vector with initial point # and terminal point. R

[a] -~ Inwhichoctantis R ?
O,..- O,
[b] If you start at point £, move 2 units down, 4 units back, and 6 units to the right, find the co-ordinates of your en'ding‘péint.r

(54 2b 2200 =(-9,4 1

Iel - Write # in cc.)mp.onent form, _ _
<__:>.¢ 5} 2,4),[(,., 2>, <(D) ’;} i.> R
[d] ':: erte W as almear combmatlon of i, ] and k. |

B 5)?“‘ C"r—-—" Z;BJ 4( ),—5’5[ 2 +bj‘-——‘<jli

el _:.: T;_",;.-'i"'Eind'_th'é'maghim_dze‘of w. '(D‘o__:NOT_u_s:e decimal approximations.) .
/ 43t 5 = S
If] ':. Fmd a umt vector in the opposite d1rect10n as w (Do NOT NOT use decimal approximations.) .
L2 b 5 >
= (%6, b> &, . %@
(g] Find a vector of magnitede 6 in the same direction as # . (Do NOT use decimal approximations.)

CGE) b == o>
=Y |

v}

2k 2 \>
A& \S“’; (&7

[h]. If ”17“ =13, and the angle between # and ¥ is 2 radians, find % - ¥ . (Round your answer to 2 decimal places.)

N0 cos 2= X2 cos 27 7199

CONTINUED ON OTHER SIDE %



w

(]

)

_[0] -

[
. -

* Find the. general equation of the plane passing through P, Q and R.

L Find: symmetrlc equatlons foi' the lme whlch passes through Q and is also perpendlcular to the plane —-2x= 3y +z= 9" '

-’5-?9—;??51 wemzay e 0
oo T SR S : ' omél% >

: Fmd the equatlon of’ the sphere w1th P and Q as endpomts of a dlameter

If ”v" =3, and the angle between 7% and Vis2 radlans ﬁnd the magnitude of UXV. (Round your answer to 2 deezmal places)
[t w’l m D22 (747

Find the area of triangle PQR . (Do NOT- use declmal approximations.)

== )T T R] - >
D% 1o = 692;" _ \0*5*2)*%1

2 65l 5T +.%Oj 4”472 |
loww \\445 % Jo>ll |

L ¥

-‘”4J +~é;~‘+&»f30§ Mwe’i’{ﬁ"’[ Bﬂ) QEEE;
=4 TeET . -

mzmwz_, veTon = {4, 32, 40 o L1, &10P
LR ? O% l(%)%»%*{@é ot*')

Fmd parametnc equatmns for the lme wh1ch passes through Pland is aIso para]lel to i.
F—'. ~ g - 6 t ‘
_g =2 of
L7 E 3 4

D 1R CTl o VEETSL S NI MI vmf'bn..

CENTEL= M [DPOIST = ( = =S (l,O)\)

RADILS = f-l r)+(z-D> (——*fml)
C;«H) 4—3 (e~ 15 =24

--Find the equation of Yz ~trace-of the- sphere -with- P -and-© as-endpoints of a diameter: -

(O+13 ryre @ 1Y =24
&j (2123




